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: This paper contams ONE HUNDRED (100) multlple-chmce and matchmg

questions, each question carrying TWO (2) marks. Attempt All the questions.
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In which sector of the Indian
Economy will we find a high rate
of disguised unemployment ?

(A) Service sector

(B) Transport sector

(C) Agriculfure sector

(D) Manufacturing sector

“Development the.t meets the needs

of the present generations, without
compromising the ability of future
generatmns to meet their needs.”
This- def1mt1on of sustamable
development was proposed by :
(A) Aneartya Sen.

(B) World Bank Committee

(C) IMF _
D) Brundtland Cemmissio‘n
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In which Bank, Banaras State Bank

has been merged ?

(A) -State Bank of India

(B) Caﬁar‘a Bank

©) Punjab.'N.ational Bank

D} ]Eiank of Baroda

Inclusive growth is an impo:itanﬁ

objective of the development

prooess. In this context, which of the

following would not aniount' to

inclusive growth ?

(A) Poverty reduction

(B) Disinvestment

(C) Good Governance

- (D) Skill building

Terms of trade between the two

. countries refer to ratio of :-

(A) Export prices to import pripes

_(B) Currency values of two
countries |

(C) Export to imports

(Dj Balance of trade to balance of

payments
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6. - A potential problem with the

accumulation of public debt that

results due to the heavy borrowings

by the Government is that :

- (A) It may push the interest rate

higher which crowds out

pﬁvate investmeni: |

" (B) It may ﬁush the interest rates

- downwards Whlch mﬁy crowd in

privafe investment |

(©) Interest rate remains neutral
and pﬁvate investment will not
change

(T))’ None of the .above

Poisson distribution is uééd 1;1 the

' case of :

"(A) Predicting rainfall |

(B) Predicting gender of a newborn
baby

" (€) Prediction of rare events‘

(D) Predicting winning chances in

a horse race
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9.

10.

~ Given a series in Geometric

progression a, ar, ar?, ar® ....... ar®,

has the ratio of two consecutive

- terms as :
(A) ar
- (B) a

C) r

O X

Indifference curves are redundant

in the derivation of demand curve -

(A) Hicks-Allan approach
(B) Hicks approach

(C) Slutsky approach
(D), Samuelson approach

The !:hedry of consumption which

argues that consumption is based on -

j houSéhold_’s ‘long run' estimate of

their income is called. the :

(A) related income hypothesis

(B) permanent income hypothesis

(C) Duesenberxy theory
(D) life-cycle hypothesis

" Economics-TI
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11.

12.

13.

Industrial Policy Resolution 1956
stressed on : |

(A) E:;ipan'ding bublic sector

(B) Speeding up industrialization
(C) Both (A) and (B)

(D) None of the above

The laws of Pareto optimality in
.production and consumption is

" given by : -

(A) The social welfare function
(B) The utility possibilitj curve
(C) .The transformation curve

(D) The grand utility .possi_bil'ity

curve

Which one of the following is not

a function of Commercial Bank ?
(A) Providing Project Finance .
(B) Selling mutual funds_

(C) Deciding bank rate .'policy

(D) Settlement of payments on

:behalf _Qf the customers
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14.

15.

16.

In economic developmeht, the  14.

theory of surplus value is given
by =

(A) Schumpefer

(B) Karl Marx

) Ricardo

(D) Mrs. Joan Robinson

‘David Ricardo presented the theory  15.

of internz_a.tional trade is called :

 (A) Theory of absolute advantage

(B) Theory of comparative
ad\'ranta-ge- |
(C) Theory. of equal advantage

(D) Theory of total advantage

Which of the following taxes has not  16.

being subsumed at the state level

into GST ?

(A) State value added tax
(B) Taxes on agricultural land
(C) Entertainment tax

(D) Taxes on lottery
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Rttt Aefdasl ARAN Heuni
Rigld g2l suvairi »udd 9.
@A) ylle:

®) sid s

(©) Asisl

D) Ml A2 Aollrunt

3clls ALl Mid U enw -l
[Rigid »uwdl 8, g4 @ |

A) [ amnl Rgid

(B) dd-iicHs aletril Rugid

(C) witrl il Rugid
(D) 4 el Rigia
58 8.

QAumiol sul 83, Ay AR
.94 2. Al YHUAR 53ML 2iadl
] ?

(A) RUXY Yeuqdd 52
(B) sl w5233
(C) #-ilIo+ AR

D) die?] uzAl A0



17.

18.

19.

* measures of

Which one of the following  17.

variation is
independent of ‘change of origin’ as
well as ‘change in scale’ ?

(A) Range

(B) Quartile deviation

(C) Mean deviation

(D) Standard deviation

The price of a commodity varies 18

' ‘with place and time. The variable

‘pricé’ can be categorised as :
(A) Discrete variable

(B) Categorical variz;ble

(®)] Continuoué {rari'able

D) Quali{:ative variable

An upward sloping supply curve of 19

labour means :

(A) Substitution effect = Income

~effect
(B) Substitution ‘efféct > Income
effect .
(C')‘. Substituﬁon effect < Income
effect

D) .None of the above

Economics-11 - 9

Qamil wasuAAl sl wuds,
“Gon Bigal wRadd” dm “Wa
wRadq ol ada sl 8.

(A) [QrdlR

(B) ugds [Qua-d
(C) s [Quas
D) xR [Qaa-

Ag axgel Bud, WA 2 AL R
weanld 8. AdUR Bua’ A -

(A) idd A4
By adllsd aarfd
(C) Udcd 24N

D) BUeHs AR

afl asw.

Gul ds SOl SHAL YRA8L

ageil 2y :

(A) VAW AR = 2AS AR

(B) %AW »UR > A8 AR

Q) AW WA < S AR

@) Gu-unidl A Al

| - [P.T.O.]



20.

21.

- 22,

The c;)mbined effects of'the

multiplier and accelerator .is

called :

(A) Supper-multiplier
(B) Leverage effect

(C) Investment multiplier
(D) Both (A) and (B)

When there is unempoyment caused

by a lack of consumer spending, we

classify this 'type of unemployment
as : |

(A) Cyclical

(B) Regional

(C) Seasonal

(D) Structural

Which one of the following countries

is the first country in the world to

" propose a carbon tax for its people
to address global warming ?
(A) Australia |

(B) Germany .

‘ (C) Japan

(D) .New Zealand
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23. Who said “The essential function of  23.

24.

25.

central bank is the maintenance

of the sthbility of monetary .

standard” ?

(A) Kisch and Elkins

(B) De Kock

(C) Henry Thornton

(D) None c;f the above

Which of the following i_s an obstacle
to econonﬁc dev;alopment ?

(Aj Low rate of c.apital formation
(B) Vicious circle of poverty

(C) Socio-cultural barriers

(D) All of the above

Since 2005, custom duties have bégn

.. reduced because of international

agreement under :

(A) WTO

B) IMF

(C) World Bank

(D) All of the above

Economics-H '
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26.

27.

- (©)

Value added tax is :

(A) A special tax levied by the

states on produéts froin other
stateé

(B) a tax on final consumption

collected at the consumption.

level

an ad valorem tax on finél
consumption collected at the
manufacturing level

(D) an ad valorem tax on domestic
rﬁna-l consurﬁption collected at
all stagés bet'ween’ production
Vandr point. of final sale
IC=175+ 0.82Y i the consumption
function,_ then the marginal
propepéity to save is :

(A) 0.82

(B) 75

(C) 25

(D) 0.18

‘Economjc's-'II‘
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- 28.

29.

30.

For a matrix to have an inverse, it
should be a square matrix and :

(A) Singular matrix

(B) Non-singular matrix

(C) Diagonal matrix

(D) Null matrix

The criteria of expected monetary 29.

value is used in decision-making

- (A) Certainty

(B) Uncertainty
(C) Inflation

(D) Recession

The absence of money illusion  30.

means t_hat :

(A) as the money supply doubles,

the demand for money doubles

| (B) as the price level doubles, _-th_e

demand for money doubles
(C) as interest rate doubles, the

~demand of méney doubles
(D) as real income‘doublels, the

demand of money doubles

Economics-11 ' .13
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31.

32,

The general methods used to solve

industrial disputes in India are :

(1) Collective bargaining

- (2) Compulsory 'arbitratfon-

(3) Adjudication

" (4) Decision by trade unions

Choose the correct combination of

" methods from the following :

(A) (1) and (2)

(B) (2) and (3)

(© @ and ()

™ @ and (3)

Migration is a funétion of :

(A) Iqterplay of a nu.mber. of push
factors |

(B) Interi:ilay of a number of pull-
factors o

(C) Religious factors

(D) The combinat_ioﬁ of push and

~ pull factors

Economics-II
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33. UNDP has introdﬁced a new po;rerty - 33.

index known as : |

(A) Human poverty index '

{B) Poorest aniong poor index
(C) Social Poverty Index A

D) Multi—dimerlsional poverty

index

. GATT, was established in ‘the 34.

year : -

(A) 1947

(B) 1945

- (C) 19560

(D) 2005

. Which of the following is not a

characteristic of a tax ?

(A) It is a compulsory payment

(B) Every tax involves a sacrifice
by the tax .payer |

(C) Thereisa quid-pr&quo between
the tax payer and the
government

(D) Refusal to pay a téx is a

punishable offence
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36.

317.

According to the monetarist :

(A) an _increase in the money
supply is likely to lead to
inﬂ_ation

(B) a monetary stimulus is

36.

ineffective if firm costs of -

production also rise
(C) léng-rﬁn aggregate supply is
verti;:al_ at the natural rate of
unémployment |

(D) all of the above

The formula for compounding is

the principal, V-final value, r is the

rate of growth and ¢ stands for time.

As the frequency of compounding

tends to o then : -

(A) V = P + n®

(B) V = Pe't
(O) V = oPrt

- p
D V=T

Ecor_mmics—II
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38.

39.

40.

"taken out

(A)

{C)

A situation where people who have
insurance behave

recklessly as a result is known

(A) Symmetri¢ information'

(B) Bad Luck

(C) Fraud

(D) Moral hazard
In classical theory of international

trade, the exchange of goods and

services takes on the basis of .........

system ?

(A) Barter

(B) Money .
(C) Labour

(D) Capital

If X, and X, are two means of

samples having sizes ny and ng
respectively, the combined mean
will be : |
X +X
-2
X, + X,
mtng
mX, + X,
m +ny
M X5 + X5 .

(B)

_ Economics-I1
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40.

Fud o L Al 2Bt werdl

add 53 A wWRRafaA -

A) wRifd uledl
B) gty
(C) 8%

© AR Ase

58 9. _
i Y - wRre Rgidl,

argel vl Aal-i AR &6

oqaei-l WA Wy 8 7
@A) g AR ()

(B) i

(€) %

O ¥sl

ny WA ny F2d st qAd & BBl
w2 S AN X, 2R X, Sl ol dYsd

s e

X1+Xz
2
X, +X
ny +ny
X + Xy
n+ng |
@ X + X,
Q3.

(A)

(B)

(C)
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41.

42.

Increase in agricultural production

and productivity is a pre-

condition : |

(A) to raise the share of agriculture
in GDP

(B) to ensure national food security

(C) to provide livelihood and:

‘nutritional security
(D) all of the above
Life tables are studied as :

(A) Cohort or generation life table

(B) Period life table

(C) Human life table

43.

D) A and (B) types only -

In Rostow’s theory, the drive to
maturity‘:

(A) 'starts the development process

(B) completes the development

' process

.(C)- comes before the take-off

(D) follows the take-off

.Economics-II
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46.

(A) Increases the volume of trade
{(B) Reduces the volume of trade
(C) Has no effect on volume of trade

(D) Both (A) and (C)

Incidence of tax can be passed on

to others in case of :
(A) Direct taxes

(B) Indirect taxes

(C) Both (A) and (B)

(D) None of the above
The speculative demand for money,

according to Keynes is a function

- of :

(A) level of income
(B) rate of interest
(C) level of output

(D) level of saving

Economics-I1
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45.

46.

(A) ARy 56 aul 8

(B) MUY 56 HaAB B

(C) LUl se- 2R sl Al
D) (A) 2. (C) 6id

5UUAA WL YR

(A) Al 523

(B) W& 543U

(©)- (A) ¥R (B) ol
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oL

(A) Al AR

(B) UL €
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(D) sAd-L R
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47.

49.

 welfare is based on

The Cobweb model is given as :
Qg = (P and Qy = f(P;_y)
The model yields :

(A) Static equilibrium

(B) No equilibrium
(C) Comparative static equi]jBrium_

(D) Dynamic equilibrium

The cardianalist criterion of social
(A) Law of diminishing marginal
.ut.ih'ty‘

(B) Principle of maximum welfare

of maximum people
(C) Law of equimarginal utility
(D) Law of social justice

' The BLUE of parameters in a two-

variable lihear regression model

Y,=a+ ﬂX1 + u; are obtained by

minimizing :

@ y?

(B) XY, - BX,)*

(C) =zu? |

(D) 3e? whereg; = errorin estimation
=Y; - Y,, ¥, estimated value
of Y;

Economics-I1
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Radly 3w | Raddda Wda
Y; = a+ BX; + u; ¥i, M-l BLUE
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@A £y?
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(C) zu? |
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i
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.50. Physical Quality of Life Index

(PQLI) is a composite index of :

(A). Life expectancy at age one,

i

basic literacy and Personal

Income
Basic literacy, Nutrition and
life expectancy at age one
Life expectancy at age one,
basic 1iterac§ and infant
mortality |
Life expectancy at age one,
infant mortality and standard
of living
. Who has launched the “Grand

fnnovation Challenge” 7

@A) PMO

(B) Ministery of Sicnece and
Technology

(8] NITI' -Aayog

(D) Atal Innovation Programme

Economics-I1

. @addl o{lAs paadidl sl

éiwvtmi
(A) w5 ad-l ai @as-ll wuday,
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45

il AL, MRl 2 A
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As quldl GHY @a--l na,

el AERdL A [y Yy eR
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ey €3 A @A Qe
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sql & 7

(A) ast neust-l gl
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- 52

53.

54.

55.

The theory of Demographic

transition 2006 is contributed by the
economist : _

(A) Caldwell and Caldwell

(B) Harrod and Domar

(C) Malthus

(D) Kaldor

A labour-saving technical progress
is more important for :

(A) Developing countries

(B) Agrobased countries

(C) Developed countries |

(D) More populated countries
New trade theory propounded by
Heckscher-Ohlin assumes the
following : |
(A) Increasing returns to scale
(B) Imperfect competition

(C) Product differentiation

(D) All of the above

In India, fiscal deficit as a
percentage of GDP during last
5 years is :

(A) Falling

(B) Rising

(C) Constant

(D) None of the above

Economics-1I
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ag Hecayel 8.

HLAM

il 2006 il axcdllanus AsHLL 249}
Rigic, aefausA] :

(A) 5168dd 2R slesdd

(B) 838 ¥4 SR

(C) e

(D) slesir

GIRL AN 20l B,

YR oUd ds-lsl wala ... .

(A [Asuq 2l
B) M snald 2l
© Rsdld 2

D) a4y aRdlain 24l |
€523 vilsdinnl Adl e Rigid
(A0 e 43 wwald B,
(A) d9dl HAdR-L &R

B) »yel st

(C) Gulen dsidd

D) Gu-L sy

54 WA GewleHn
USNY viae esiadl e Seal
Y oa eyiq :

(A) 42y 8
(B) 4 &
©€) Rax &
D) Gu-iidl i Al



56.

57.

b8.

: Economics-11

Which of the follbw*ing is not an
organised sector in India ?

(A) .Nationalised Banks

(B) Chits and moneylender

(C) Regional Rural Banks

(D) Cooperative Banks

If the téchnology matrix in input-

output framework is given as ‘A’,

then (I — Ay 2 is :

(A I+ A + A% + A3 4+ At
B) I-A-A%- A%
(© T-A+AZ— A%+ A%+
OI+d-4a) + -

-

-------
ooooooo

-------

-------

Kaldor-Hicks welfare criterion is

based on :

(A) Marginal utility of money is the
same for all ’

(B) Marginal utility of money is not
same for all

(C) Average utility of money is
same for all

(D) Average utility of money is not

same for all

56.

57.

58.

283

oudHl, IA-uxidl 83 s Wddld
o Yl ?

(A) ANlugd A5

@) A2y 2 wgs (aus)
(€) Mels wy Arsi

D) sl A5l

R ALUA—GUled HAVUHL 25IEI
ARs A du dl @ - AF? =
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59.

60.

A disqreté choicé model is used

when :

(A) The dependent variable can
take only diserete values

(B) The independent variable(s)
can take only discrete values

(C) Both of them cén take any
valﬁES |

(D) Parameters can take only

 discrete values

Keynes refuted the Pigouion

formulation that :

(A) cut in money wage could
achieve full employment
(B) cut in real wage could achieve

full employlﬁent

(O cut in rate-of interest could

achievé full employment
(D) ‘cut in tax rate could achieve full

| employment.

Economics-II
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61.

62,

- 63.

(®)

Food for work programme is
managed by ...........

(A) State Bank of India

(B) UNO

(C) World Bank

(D) Ministry of rural development

In ahy country population 1;>er
sq'uare. kilometer indicates :

(A5 Labour deﬁcienéy

(B) .Population expansion

(C) Population reduction

(D) Population density

Capital-output ratio refers to :
(A) Units of capital required to

produce consumer goods

produce one unit of output
(C) Amount of capital required to
| install a capital asset

(D) None of the above

Economics-11 |
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64. In Ak 2;fact0r, 2 goods Heckshcher-
Ohlin modél, the two countries
differ in : |
(A) Military capabilities
(B) Labour productivities

' (C) Relative availabilities of factors
of production '
" (D) Tastes

65. Which finance commission haé used

forest cover a criterion for horizontal

distribution of resources m India ?
(A) 10th Finance Commission
(B') 12th Finance Commission
'(C) 13th Finance Commi.ssion
(D) 14th Fi;lahce Commission
66, Pinancial stability report-of 2019 is
feléased' by :

(A) World_-Bank

(B) International Monétary Eund
(C) Reserve Bank of India

D) World Economic Forum

Economics-I1
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67.

68.

69.

" (A) The

Given the production function :
Q = 312 + 4LK + 6K2

The function is :

(A) a non-homogeneous function

(B) a cubic function

(C) a linear function

(D) a homogeneous function
Walrasian general equilibrium .

includes :

. (A) Demand functlon

(B) Supply function

(C) Clearing all the markets
simultaneously

(D) All of the above

A necessary condition for

67.

69.

identification of an equation in a°

simultaneous equation model is :
number of a-priori

restrictions should not be less

than the number of equations

in the model minus one
The
restrictions should not be more

(B) -number of a-priori

than the number of equations
in the model minus one
©

The number of a-priori

restrictions should be equal to -

the number of equations in the
model - _

(D) The number of variables
‘excluded from the equation
must be less than the number

- of equations in the model

minus 1

Economjcs-II
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70.

71.

-T2,

In calculating a country’s GNP at

market prices one of the following

- is not included ?

(A) Wage and salaries
(B) Bonds to the employers

(C) Indirect tax

(D) Depreciation allowance

The most important source of

electricity energy in Indié ST
(A) Petroleum

(B) Coal

" (O) FElectricity

(D) Atomic Energy

The calculation of birth rates and
death’ rafes are attempted on :
(A) per 100 pefsc-ms

(B) per 1000 persons ‘.

(C) per 10,000 persons

.(D-) per 1,00,000 persons

- Economies-II
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73.

74.

75.

Which of the following trade policies

'linﬁts’ specified quantity of goods to

be imported at oﬁe tariff raté ?

(A) Quota

(B) Import tariff

© Speciﬁc tariff

(D) All of the above

CENVAT is related to :

(A) Salés Tax

(B) Excise Duty

(C) Custom Duty

(D) Service Tax

How can the RBI decreasé the

1‘.1‘;oney supply in the economy ?

(A) Reduction in Bank Rate

(B) Purchase sécurity from open
market

(C). Lower the Repo rate

(D) Increase the CRR .

" Economics-II
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76. The coéfﬁcients in a technologsr
matrix in input-output franﬁework
aré :

(A) Both negative and positive
(B) All elements less than one
(C) Diagonal elements are greater

than one

' (D) Diagonal elements are all Zero.

77. The factor intensity in production-

of -any commodity depends on :
(A) Qﬁality of factors

(B) Substitutabi_lity of factors .
(C) Quantity of factors

(D) Al of the above <

78. To comparé the per capita incomes

of two states;, which test will be

used ?
(A) z-test
- (B) F-test
(C) t-test .
(D) Chi-square test

Economics-11
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79.

80.

81.

3)

If the demand for money i8 perfectly

interest inelastic, the LM schedule “

. will be :

(A) Downward sloping

(B) Upward sloping

(C) Vertical line

(D) Horizontal line

Which of the _follow‘ing measurés

cannot remove poverty ?

- (A) Population control

(B) Government taxes
(C) Increase in production

(D) Equitable distribution

Which of the following are functions

of NITI Aayog ?

(1) Fostering co-operative
federalism '
(2) Platform for resolution of inter-

sectoral and interdepartmental
issues -

Instrument to bring outside
ideas into policy-making

(1), (3) |

(1), (2)

2), (3)

All of the above

(A)
(B)
(©)
D)

Economics-I1
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82.

- 83.

84,

(B)

(C)

Environmental Economics focuses

“on:

(A)

Privafe-.costs and private
benefits-analysis |

Social costs and social benefits
analysis ‘ 7 .
Both px_'_ivaté and social costs-
benefits analysis

(D) None of the above

Which instrument possess general
acceptability ?

(A) Bank draft

- (B) Bill of .Exchange
- {C) Money

(D) None of the above

Adam Smith predicted that the

- . economy would end in a stationary

§

(A)

state because :

There will be scarcity of natural

Tesources

(B)
arable land ~

(®)
scarcity of entrepreneurs

(D) People will stop working

Economics-11
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85. Which of the following factors - 85. (-l 4 wRel 2wl WA
influence trade ? | 38?7

A) Government
(A) vernmen (A) AR

(B) The stage of development of a -
| - ‘ (B) s g Qs doissl

product

©) Gowgstdl  wasidl wda
(C) 'The relative price of factors of

' Byl
production
(D) All of the above | - GUAL dMlM

86. Which Committee recommended 86. &8 uBR, sau ¢¢ 380+l 53 el

abolition of tax rebates under Alo}s saul g{émgl 3 edl ?

section 88 ?

4) Acdul ARR

(A) Chelliah Comimittee _

o B) a5 Alla

- (B) Kelkar Committee o :
©y wix wHb

(C) Shome Committee - ‘

(D) None of the above @ Gyl S -l

" Economics-Il . s  [PTOl



87.

- 88.

(B

‘Type I error’ in tests of hypotheses

~is the :-

(A) Probabiiity of accepting Null
hﬁothegis when it is true
Probabilit& of accepting
aitem#tive h&'pothesis when it
is true |
(C) Probability of rejecting null
| hyﬁothesis when it is true
©)
alternative .hypothesis when it

is true

Given the total cost function as :

" TC = 600 + 3Q — 5Q2 + 2Q3

. The average fixed cost (AFC) is

given as :
(A) AFC = 600 + 3Q

(B) AFC = -5% + 3Q°
(C) AFC=(600+3Q-5Q2+2Q%/Q

(D) AFC = 600Q-1

Economics-11

Probability of rejecting

34

87.

88.

YR 5L YRNBRAHL “UAH S8 O

ned

A) w1l FRusela uRseysy )

Sl A dlsiral dena-
(B) w1 Asleus wR seuny w2l €1y

e AR stz iewas -

(C w1 Aswelly wRseu-u wall
Q1 A Al wadls sl

Aelasl

D) wUR d5Rus wRseyqi il gin
Al Adl AWadlsz sl
Aeuany
% ga wi Ay

TC = 600 + 3Q — 5Q2 + 2Q3

elu dl ue Rar wd (AFC)

| -_fqﬁlit:

(A) AFC = 600 + 3Q
(B) AFC = -5Q% + 3Q3

(C) AFC=(600+3Q—5@% +2Q%/Q
(D) AFC = 600Q1
4.



89.; Kinked demand curve is the result ~ 89.

(A) Selection of inferior goods

(B) Differ-ences in response to
change in price |

(C) Government tax and subsidy

(D) ‘Chahges . in consumer

preferences

90. As per the Loanable fund theory, 90.

the rate of interest is a function
of : - | o |
(A) Investment
(B) Quantit& of money
(C) Sﬁpply of monéy '

(D) Desire to hoard money

91. The solar poWef capacity target in 91,

India by 2021-22 under J awaharlal

Nehru National Solar Mission

(A) 1,00,000 MW
(B) 20,000 MW
(©) 18,000 MW
D) 16,000 MW

Economics-I1 | 35

wipol dioel as A :

(&) sasl dxgaiil el

(B) Budui addl 33813 Ul

yReuadi el dsladl

[

(C) AR A A AUsdl

@) wesdl wdeolsi adl wRad-d

o wRaum 9.

RS cisin-l Rgid Wl sl

(A) yolaisie
(B) @il el

(C) ~uRi-l Yrasl

(D). ~umi Ane-l Sl

sasrene Ay UlRzy A3 Gof
MRl 360 2021-22 YL cuRaME
........... aftrv. Gl i as 8.
(&) 1,00,000 MW

(B) 20,000 MW

(©) 18,000 MW

D) 16,000 MW

(P.T.0.]



- 92,

93.

Environment is identified as a

public good bécause D

- (A) It'has internal economies and

di.se-condmies

(B) It has external economies and
diseconomies |

(C) It has regional economies and
,disecbnomiesl

(D) None of the above

"Who will settle the grievances of

customers of Banks ? -

(A) Reserve Bank of India

(B) State Bank of India

(C) ‘Ombudsman

(D) Local court
04.

The Nobel Memorial Prize in

Economic Sciences 2019 is awarded

to :

o (A) Paul :Romer_ and Oliver Hart

| (B) Amartya Sen -

(C) Angus Deaton and Oliver Hart |

(D) Abhijit Banerjee, Esther Duflo
and Michael Kremer |

Econonﬁcs—II .
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92.

93.

94.

yulaze As ‘Ad g’ d@ani
WA B, s 3 :
(A) adl 2idRs died A a6l

sly, 8

(B) ddi ol el 27 Sraedl sid
@ | .

(€) Al wels @il 2 Aeed
slu 8

(D) Gu-unidl 51§ gl

Arsidt Alssifl sRuelq sio
MR 529 7 -

@ Axd a-s s SFsu

(B) 222 Avs s Ssur

© (2losui) Atss sl
(Ram a»t[am’l

D) w5 08
204¢ A wefual Ava -ida
AuiRlud Sy SR A »udg

®?

(A) ¥l AU A didlaz wid

B) 2] A+ o |

(© AR Slest A willlaz _;}lé

D) @Rl A2, S22 ssel 1A
Wsid 3R



95.

The investment in productive assets
and participation in management as

stakeholders in business enterprise

-is

(A) FDI

. (B) FII

96.

97.

Economics-I1I

(&) 7 Balance of Péyment )

(D) SDR |

The _ non-eéénomic_ arguments for
tariff protection inciude :

(A) National Pride

(B) Income redistribution

(8] National defence

(D) All of the above

The Cobb-Douglas production

 function Q = A.L*KP exhibits

' elaéticity of substitution (o) :

A) o, = 0
B) o, = (@ +P)
© o, = 1
.(D.) o, < 1

95.

96.

Gewe Sy usUHAIHL SIS 2R
daisly AteuiHl [Baarsl ald
etafletl 2t

(A) FDI

(B) FII

(C) Auzadl gar

(D). SDR |

3 o | y

wsld Aaa w2+l Giauls
celleinl :

o @) g
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97.

(B) asl yadael

(C) Ay Hram

(D) GUIAL dH

So) S Geuiert RAY Q = ALOKP

Hie wdo-l jedrladl (o) -l

(33dt

(A) o, =0
(B) o, =(+P)
(C) o, =.1

M) o, <1

[P.T.O.]



98.

Method of meoving averages is a
method to determine :

(A) Trend

- B) Cyclical variations

(C) Seasonal variations

: (D) Ran_dom variations

99,

100.

B the Theory of the Trade 'Cycl,e" ?'

98.

The purpose of product differen-  99.

........

tiation is to

(B) Make demand curve inelastic
(C) Shift cost curves
(D) Both (A) and (B)

Who has written ‘A Contribution to

(A) J. Schumpeter
(B) J.M. Keynes
\

(C) J.R. Hicks

D) K. Mitchell

Economics-II
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100.

ylad wIuw-l ugla, 2 :

(A) aawt

(B) uslu 32351

(€) Al 810

D) qg,_aé F513

| Ptﬂ[ﬁd &écu-ﬁ ﬁ_a[a é.
axg Ageuad 3d @

(A) il a5 el sy wdsaedl
5 |

(B) Midrll asm HEUu0E o<l
5 |
(€) wAlHL asid wWaAsal 8

D) (A) WA B) oA &

‘A contribution to the theory of the

trade cycle’ Yad§ .......
A) %. ywdler |

(B) ¥, 6

(C) F.2uR. (851

O 3. MAa
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